10. Sketch the graph of the function

v = 2(x — 1)* — 8 using transformations.

Then, copy and complete the table.

Vertex ( ( - 3»
Axis of Symmetry K’ |
Direction of Opening \AP
Domain X&R
Range 2-%
x-Intercepts (3,0) 4,9
y-Intercept ( 0,-6)
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Axis of Symmetry
Direction of Opening '
Domain
Range
x-Intercepts
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Austin and Yuri were asked to convert the

function y = —6x* + 72x — 20 to vertex
form. Their solutions are shown.

Austin’s solution:

y=—6x"4+ 72x — 20

V= —E[x’@lzx] — 20

y = —6(x? + 12x 4 36 — 36) — 20
y = —6[(x* + 12x + 36) — 36] — 20
v = —6[x+ E?’— i6] — 20

v = —6(x + 6) + 216 — 20

v = —6(x + 6) + 196

K;'\\uu(s_
‘1:: 7:-9 L/
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Yuri's solution:

y=—6x"+ 72x — 20

v = —6(x"— 12x) — 20
v=—6(x"— 12x + 36 — 36) — 20
y= —6[(x* — 12x + 36) — 36] — 20
y= —6[(x — 6)? — 36] — 20
y=—6(x — 6))@ 216 — 20

y= —6(x — 6)°@ 236
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Martine’s teacher asks her to complete
the square for the function

v = —4x* + 24x + 5. After looking at
her solution, the teacher says that she
made four errors in her work. Identify,
explain, and correct her errors.

Martine’s solution:
y=—4x"4+24x+ 5
v=—4(x"(P 6x) +

v = —4(x" + 6x +@— 36) + 5
v = —4[[x* + 6x + 36) — 36] + 5
v=—4[[x + 6)* — 36] # 5

v = —4(x + 6)20 216 5
y = —4(x 4+ 6)* — 211
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Nature of roots:

Nisceimnant - N fal

—_—
Determine the value osto that 0: —5x? + 3kx — 2k will only ha\QNE real root.)
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Absolute Value Equetion
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